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1.10# H Fapplication)DB2F&

static

{ try

{ Class.forName ("COM.ibm.db2.jdbc.app.DB2Driver");
}

catch (Exception e)

{ System.out.println ("\n Error loading DB2 Driver...\n");
System.out.println (e);

System.exit(1l); }

}
2. BB HACHISQLIER] . MRS KA 4 7 5L filfb— A~ Statement X 5, X
RAHTENX
Connection con =

DriverManager.getConnection(”jdbc:db2:sample”, “db2admin”, "db2a
dmin”);
Statement stmt = con.createStatement();

3 EX—AEERENR, BNRERIFN R AMLstatt, KPR THTHLI0 A4
% (name) , TfE (job) , T.% (salary) ”

ResultSet rs = stmt.executeQuery(“select NAME, JOB, SALARY
from administrator.staff where empno = 10”);

4 R PR A H 3R 5 SQLIEH)

con.setAutoCommit (false);

5.{##%Connection, Statement, ResultSetRX¥}£ 45| %, con, stmt, rs,
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rs.close();

stmt.close();
con.close();

6.5 H A RAE T —ATHIE N, Anfy s
rs.next();
while(rs.next()){

rs.wasNull();
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String deptno = ""; // RIRAEHGHARIERI )9S

String s = " ";

int mydeptno = 0; //HIRAEER %5 HIAL R

String sqglstmt = "UPDATE ADMINISTRATOR.STAFF SET SALARY =
SALARY * 1.05 WHERE DEPT = ?";

BufferedReader in = new BufferedReader( new InputStreamReader
(System.in));

Connection sample =

DriverManager.getConnection("jdbc:db2:sample", "db2admin", "db2a
dmin");

System.out.println(“input deparement no”);

s = in.readLine();

int updateCount=0; //AIRGETHERMFTEL

While(s!=null){

deptno = s.substring(0,2);

mydeptno = Integer.parseInt(deptno);

PreparedStatement pstmt = sample.prepareStatement( sglstmt );
pstmt.setInt(1l, mydeptno);

updateCount += pstmt.executeUpdate();
System.out.println(“input deparement no”);

s = in.readline();
}
System.out.println("\nNumber of rows updated: " +

updateCount);

2. ®mERRFRE, TX1#E, SRANSIRESHIRN, UeuilfzmiiRn  EriEmA
HER RSB IR FEZREEILIE
try{

PreparedStatement pstmt =
sample.prepareStatement( sglstmt );

pstmt.setInt(1l, mydeptno);

updateCount += pstmt.executeUpdate();

System.out.println("\nNumber of rows updated: " +
updateCount);

JOptionPane.showMessageDialog(null, "#{&f4"+ updateCount,
"54130409", JOptionPane.INFORMATION MESSAGE);
}catch( SQLException x ){

SQLCode = x.getErrorCode();

SQLState = x.getSQLState();



String Message = x.getMessage();

System.out.println("\nSQLCODE: " + SQLCode );

System.out.println("\nSQLSTATE: " + SQLState);

System.out.println("\nSQLERRM: " + Message);
JOptionPane.showMessageDialog(null, "EINER ) g AR,

"54130409", JOptionPane.INFORMATION MESSAGE);
}
3 A4 FHDDL:

create table templ (empno char (6) , firstname varchar (20) ,
lastname varchar (20) , salary decimal (7, 2) birthday date) ;

WA —# i TRoth (A& {ERlastnamelj ) Z51FENKTEMP, Hit 5 T4
579000110, T.HE/E50000, #5445 %87 B

String sgql = “INESRT INTO TEMPL (lastname ,empno ,SALARY)
VALUES (ROTH ,000110,50000)";

Statement stmt = Connection.createStatement();

Int i = stmt.executeUpdate(sql);
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String mySelect "SELECT LASTNAME, FIRSTNME FROM EMP";
String myUpdate = "UPDATE EMP SET FIRSTNME = ? WHERE CURRENT
OF ";

String cursorName = null;

Statement stmt = con.createStatement();

ResultSet rs = stmt.executeQuery(mySelect);

cursorName = rs.getCursorName();

PreparedStatement ps = con.prepareStatement(myUpdate +
cursorName) ;

While (rs.next()) {

String lastname = rs.getString(l);

String firstnme = rs.getString(2);

if (lastname.equals("SMITH")) {

String newFirstnme = "George";

ps.setString( 1, newFirstnme);

ps.executeUpdate();

}

}

rs.close();
ps.close();
stmt.close();

SHRBREF R B, SN
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i, YM4EDLEVELZ &R AZMEE, RGP HRER, BRIl g5 h
01001 7 T. ¥ A Edlevel{ti, N E~: “Edlevel is null forEMPNO 0100”.

ResultSet rs =
stmt.executeQuery (“SECLET EMPNO,LASTNAME, EDLEVEL,FROM EMP") ;

While(rs.next()){

String empno = rs.getString(l);
String lastname = rs.getString(2);
String edlevel = rs.getString(3);

If(edlevel==null){

“EINRZE" ;)

System.out.println(empno+lastname+edlevel);

}
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